GREENLAWNS HIGH SCHOOL
TERMINAL EXAMINATION YEAR 2019-20
SUBJECTF : HINDI CLASS :IX
TIME : 3 HOURS MARKS  :80

Answer to this paper must be written on the paper provided separately.

You will not be allowed to write during the first 10 minutes.

This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the answers.

This paper comprises of two Section: Section A and Section B

Attempt All the questions from Section A

Attempt four questions from Section B, answering at least one question each from the
two books. You have studied and any two other questions from the same books you have
compulsorily chosen.
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SECTION - B ( 40 MARKS)

Question from only two of the following text books are to be answered.

Attempt four questions from this section.

You must answer at least one question from each of the two books. You have studied and
any two other questions from the same books that you have chosen.
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